Al Of & AF S B Al A
2021 E =20l
S IS0 A
B BJFEZ 1A MAl @ M2 2
orel: alRls F8slol 2y (el 28)
_ _ SIEE
SN EBSA(FH) - NBAMY - B S 0] &b o e HIRE2
ES Al 22,832,424 16,337,939 6,494,485
= 17,066,200 0 17,066,200
& 2,235,000 0 2,235,000
Xl 3,531,224 0 3,531,224
JIE 0l &2t 389, 368 366,753 22,615
= 1,200 0 1,200
Xl 388, 168 0 388, 168
BJFEZ HIE HMAl ¥ & F& 314,601 281,451 33,150
= 1,200 0 1,200
Xl 313,401 0 313,401
AZ DlE - xF Y 2tel 16,426 17,244 A818
=S 47 U MAY £X 16,426 17,244 A818
201 LBH2AH 11,700 11,700 0
01 AtR2teldl 11,700 11,700 0
O F=RYUR & MBAIHHE I 15,000& #4005 6,000
O HEARZANZE HIZ 15,000& *200% 3,000
O A& g4REIM MH 15,0003 60 F *32 2,700
202 044l 2,226 2,544 A318
01 =U0dbl 2,226 2,544 A318
O FRAM AR & 3|9 159, 000& x2H +73] 2,226
203 HR=&HI 2,500 3,000 A500
03 AIMFARARFLH| 2,500 3,000 A500
O =2 AMAY =& 2,500,000& 2,500
EEEEE 4,526 5,044 A518
sSEdzLel BT Lt 4,52 5,044 A518
202 O4dl 2,226 2,544 A318
01 =U0dbl 2,226 2,544 A318
O SEIIBI P89 159, 0002 x2&+73] 2,226
203 HR=&HI 2,300 2,500 A200
03 AIMFHARFLHI 2,300 2,500 A 200
O S22 LR 2,300,000& 2,300
U= =gzl 29 93,120 88,120 5,000
Ll




A & 0l & AFH S & A A

20219 &= =0l &t

S JI= 0 At
Az BJFEZ H

el WAUEsE Lo 29Y (Sl &)
SR EB . SR(SH) - MBAY - B 04l & ﬁii HIRZ2

Leslo 29 15,840 15,840 0
201 LBH2AH 8,340 8,340 0
01 AtR2teldl 8,340 8,340 0

O g3l 9= oM 50,000& 305 1,500

O xgsle sz 330, 000& *2Al 2t+93] 5,940

O XY 2 MEES 7Y S 900, 000& 900
203 HR=&HI 7,500 7,500 0
03 AIMFAARFLH| 7,500 7,500 0

O Xgzlo 29 RS 7,500,000 7,500
TESAA B 77,280 72,280 5,000
201 et 24,280 24,280 0
01 A2l 24,280 24,280 0

O Xgzlo g4 =9 200,000 *13& 9 80% 18,720

O Xgzlo A3 ZAHH M 280,000 x2H 560

O =39 /& o2l A&X AlIZE 5,000

— XEI= 2,500,000 *13] 2,500

- 9= 2,500,000& *13] 2,500
202 O4dl 10,000 10,000 0
04 =H=ztAbl 10,000 10,000 0

O Xgslo 2 HALTX AE =3 10,000, 000& 10,000
301 LEEMZ 38,000 38,000 0
06 2I2teI=2|04H| 30,000 30,000 0

O Zg3l9 2 HALEX AIE 5,000,000& *6H 30,000
09 ARHIXIES 8,000 8,000 0

O Xg3l9 2 =W &HAIZ 2 AdHl S 8,000,000 8,000
405 KHeHFE=HI 5,000 0 5,000
01 L =ZFFH=HI 5,000 0 5,000




20219 &= =0l &t

A JI= 0l At
I BJFEZ HIE MAI & Hef =&

O &F AF &

g Ml A

Gl WRHE T GLE-ED
SA B BR(N) - NN - BAS sroy oo HIDE 2

O L34 U3 7 5,000,000& 5,000
HEHEX A 63,711 34,866 28,845
AEHAUBE 49,711 20,866 28,845
201 ErEFd| 45,173 16,010 29,163
01 AtSR2t2ldl 40,200 13,800 26,400

O a&s2d Hbl=2 40,200

— AEF+ZF 2,200,000& 92 19,800

— SAAHZ2 2,200,000& 924 19,800

— TS, 22 300, 000& *x224 600
02 232934l 4,973 2,210 2,763

O &SN 455,000& *9 4,095

O €2 5,420 *2F x93 *9H 878
202 048l 318 636 A318
01 =UW0dbl 318 636 A318

O A2 AR & HA 159,000 x1G »23] 318
303 ZA= 700 700 0
01 EaZ 700 700 0

O s2&sl 300, 000& 300

O A& ZAZ 100,000 x4 400
305 Hia=3S 3,520 3,520 0
01 HiN3S 3,520 3,520 0

O oAtfa =z 1,760,000& 224 3,520
X 2 28223 2 3,500 3,500 0
201 ErEgd| 3,500 3,500 0
01 AtSR2t2ldl 3,500 3,500 0

O #Z% M 50,0003 =405 2,000

O AZME doXt= N 750, 000& 22| 1,500
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20219 &= =0l &t

SA JI=0 &t

A
J

&l
—

I

B2 BJFEZ HID HIAl &
ool 3EX0 WA 28 (el 28)
] _ _ SIEE
SA B SR(SH) - MRAY - B S 0] &b o e HIRE2
HENZE 10,500 10,500 0
201 LBH2AH 10,500 10,500 0
01 AtR2teldl 10,500 10,500 0
O LDEHSAM =2 200,000 =3+ 128 7,200
O BHSM HEE(SXZE HINM 2E) 1,650, 000& 2 3,300
=M HE 22 125,228 125,987 AT59
= 1,200 0 1,200
Xl 124,028 0 124,028
SS=H oaE Y 121,838 122,397 AB59
= 1,200 0 1,200
Xl 120,638 0 120,638
201 LBH23AH 30,500 30,500 0
= 1,200 0 1,200
Xl 29,300 0 29,300
01 AtR2teldl 20,500 20,500 0
= 1,200 0 1,200
Xl 19,300 0 19,300
O OlatA, AtSEEF A QI 25,0003 * 100 *33] 7,500
O OlatEA D= Q14 20,000& 505 1,000
O =m0Exs FMHAS 29 2,000,000 * 14 2,000
= 1,200
Xl 800
O J&HEsS LB 10,000, 000& 10,000
03 @At 10,000 10,000 0
O JZHES SA2EH 10,000, 000& 10,000
202 044l 33,000 46,000 A 13,000
01 =U0dbl 10,000 10,000 0
O J1&ES 2] 10,000, 000& 10,000
03 =2HR0dHI 10,000 10,000 0
O J&ES AL R0 10,000, 000& 10,000
04 =M 13,000 26,000 A 13,000
O JI1&ES M 13,000, 000& 13,000
203 HR=&HI 15,000 10,000 5,000
03 AIMFAARFLH| 15,000 10,000 5,000




A & 0l & AFH S & A A

20219 &= =0l &t

SA JI=0 &t
Z M BJFEZ HIA HAl ¥ & =&

Giol: Apmel @ KL (Er9): ® )
SA B SR(SH) - MRAY - B S 0l & o4 ﬁii HRE2

O JI&ES ANBMFNHRFEH| 15,000, 000& 15,000
405 KHeHFE=HI 10,000 10,000 0
01 L =ZFFH=HI 10,000 10,000 0

O JIEEss ML ESEFHSHI 10,000, 000& 10,000
801 0Oildlbl 33,338 25,897 7,441
01 <etoldigl 33,338 25,897 7,441

O geroidlgl 33,338,000 33,338
OHE A Ol At =2 3,390 3,590 A200
202 O4dl 1,590 1,590 0
01 =U0dbl 1,590 1,590 0

O S22Hd, =3 S R 159, 000& *2H +53] 1,590
203 HR=&HI 1,800 2,000 A200
03 AIMFAARFLH| 1,800 2,000 A200

O Oa=EE 2st R 1,800,000& 1,800
A2l ¥ XS 11,590 10,190 1,400
SH2CH & =S =H0IHI} 3,600 2,100 1,500
303 Za=z 3,600 2,100 1,500
01 Z&= 3,600 2,100 1,500

O ZRUL HAEI 2424 MY 2,100

— zes 1,000, 000& * 182 A 1,000

— = 500,000& * 12 A 500

- &3d 300,000& 22 A 600

O @4 UFAM 22 [A AlY 1,500

- Z*e 500,000& 14 500

- = 300,000& *x2H 600

- &3d 200,000& 2 400
A0HE I 22| 7,990 8,090 A 100

|




All Gl &8 AF 2 H M A
2021 S 204t
M J1= 0l A
ma: mEeaAy
S J|2&hl (&)
SA B BR(N) - NN - BAS sroy oo HIDE 2
201 Er2Fd| 5,000 5,000 0
01 AtSR2t2ldl 5,000 5,000 0
O 4um&Eot Xz M 25,0003 *200% 5,000
202 044l 1,590 1,590 0
01 =Ll 1,590 1,590 0
O 43I 2 B2 g2 159, 0003 x2H x53] 1,590
203 YR =& 1,400 1,500 A100
03 AIMFAASZXH] 1,400 1,500 A100
O 8d3t8It S J2F&A 1,400,000& 1,400
HE2Z A 74,767 85,302 210,535
ol 2| 36,623 45,918 29,295
ol 23AH| 36,623 45,918 A9,295
101 2lAH| 27,928 37,218 A9,295
03 SIlHA2Z2XE 27,923 25,566 2,357
O 28% 2£54019) 27,923
- JlE= 1,902,060& 122 22,825
St = 40,0003 *12& 480
— YESOHI 1,902,060& *0.6%23] 2,283
— dXsassI=E 1,902,060& /209%8* 15 1,093
— 5222 100,000& 100
— XAl 22,824, 7203 *5% 1,142
203 PR =&l 8,700 8,700 0
01 JI22ELRFLHI 6,600 6,600 0
O gyijg==s 6,600,000& *1H 6,600
04 BEABEYRFLH 2,100 2,100 0
O JI1= 0l &kt 175,000& x12& 2,100
Jl=2&l 38,144 39,384 A1,240




Al

Lt

Ol &F AF &

g Ml A

S-S (3H) - NRAY - BAS A oK EEOEH ==
pIEE-E] 38, 144 39,384 1,240
ot o | 26,624 24,024 2,600
A2 22| 26,624 24,024 2,600
e 2,400
20l N ZelE 200,000 *3CH*4H 2,400
SA| X 350,000 1 CH* 122 4,200
Ne s 3,564
=27 15,0008+ 152+ 128 2,700
NEIN 12,0002 62 %12 864
oA UL E4EH MR 6,000
IR 35,0002 * 1505 5,250
E2E 5,000+ 1505 750
SN2Y 248 400,000 +8% 3,200
=EL 8,000 x6% 10 x 122 5,760
22XA 2HAY| 1,500,0002! * 14! 1,500
of il 11,520 15,360 3,840
24014 11,520 15,360 3,840
X2l ZHH O 11,520,000 11,520




A & 0l & AFH S & A A
2021 & =04t
SN BRI
m: ENEH5 L BINY Y5
SRl ARl MNP MM RS (9@ )
SH-EH . S(BH) - ALY - BLS 0ff &F ﬁii HRsZ
£20 1,860,195 1,538,928 321,267
ENeN5 Y HYNY st 1,298,047 992,713 305,334
Hags #=T MEH 75 111,736 111,301 435
HEs ga U AR 76,800 76,265 535
201 Lpr2g) 59,200 58,665 535
01 ARl 54,200 53,665 535
O Hery 2 NF S5|20YDS 600, 0002 +33] 1,800
O =052 F4DS 2,000,000 102 20,000
SICELEL 500, 0002 +62 3,000
O ZRIOIZH)22N LB =NHE 8,400,0002 8,400
O NeD A 300, 0002 +20% 6,000
O Xg ¥3s 15,000, 00024 #141 15,000
03 A2 5,000 5,000 0
O MEIEA S 5,000,000 * 144 5,000
202 Ot 14,000 14,000 0
01 Lo 9,000 9,000 0
O 24 SFX HX 0 2,250,008 *43] 9,000
05 LKoY 5,000 5,000 0
O =2 oyl 250, 0002 +20% 5,000
01 LB 2,400 2,400 0
12 JIEHBAS 2,400 2,400 0
O Y2RTN 247Y 2,400
— WY YRR 300, 0002 42 1,200
— oY URR3D 300, 0002 42 1,200
303 EA3 1,200 1,200 0
01 &3 1,200 1,200 0
O YRRIN 24 2 1,200
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20219 &= =0l &t

SN B2
My INPHE L HINY 2
Sl HAIE BN MM 7S (25 8)
] _ _ HAc
SH-FH - C(BH) - NRAY - BES 0 Ak O 0il ot o SmE=pli
— WY ¥R 10,0002 +62 600
— oY ARl 10,0002 462 600
25D a2l QARe 22,460 22,460 0
201 Ysr2 | 22,460 22,460 0
01 At 22,460 22,460 0
O QINDIRE 2=9e +g 70,0002 6% *35| 1,260
O YINHIBLY U HUTAEY g 14,000
— e=ELI} 300, 0002 *42 25| +5 % 12,000
— THEX 200, 00024 *12%25| +5 % 2,000
O NEZ2IB +g 60, 00021 %72 23| x52 4,200
O NE ZRRE o4 S 300, 0002 x23| ¥52 3,000
ANEREIIR BE AREZ 9,624 9,724 A100
202 01t 5,724 5,724 0
01 =UHoib 5,724 5,724 0
O |20z g2l 159, 00024 %32 1231 5,724

203 ALFA

Bl 3,900 4,000 A 100

03 AIMF=AH2FXH| 3,900 4,000 2100

O ZXE FAM RFH 2,000,000 2,000

O K| REX AT HRES 1,900,000& 1,900
JI5= EH 2,852 2,852 0
201 23l 2,852 2,852 0
01 AtR2telt 1,700 1,700 0

O SAE28T 7 740,000 740

O 2SAzte 7Y 300,000 300

O 2NEEEXN FE 300,000 300

O 2A=3E 7Y 360,000 360

02 B==29g4 1,152 1,152 0




A & 0l & AFH S & A A

=
>
[
ot
m
40
o
0

SR EB . SR(SH) - MBAY - B 04l & ﬁii HIRZ2
s gzesll ;A2 14,400, 000& 8% 1,152
2/ A& 2t 1,059,620 713,706 345,914
NEHR = 16,990 16,990 0
2ot 15,990 15,990 0
At 22l 14,920 14,920 0
O Z¢EA & MREDH S 2144 12,0002 «65H 45 3,120
O LietEH 018 ==& 10,000 & +60A 600
SEAR)| JAHMER2E MREDM 4 9 7,000,000 7,000
ZAHARIE =2 200,000 *x3H+5 3,000
HAM AR =& 100,000 x6H 2 1,200
SZ223Hl 1,070 1,070 0
JHHLESRE HEEES 1,070
— 22 50,0001 50
— JIEF 3lH2A 30,0003 «34H 1,020
=4l 1,000 1,000 0
03 AIMFAARFEH| 1,000 1,000 0
O AH2H HRFA 1,000,000 1,000
2HAE = Al2kel 935, 142 592,720 342,422
ot A 525,180 509,820 15,360
At 22l 252,780 239,820 12,960
AL S0 ZHIAAEY S| 500,000& *12& 6,000
A S Xz 18,065,000&«12& + 600,000& =10 222,780
HAH(ZAL) AZE UMl S Le==EHl 800,000 128 9,600
AL 2#FEEl S 1,200,000& 128 14,400
3322l 272,400 270,000 2,400
AL S Zeldi(Zeldl, Wegl, dilg S) 254,400
21,200,000& 12
HAHZAL) AIEZHI R 1,500,000& 123 18,000




Z
[l

O &8 AP & & Al A

23
ZNEHS L BN L3
s250 sHML Bel (Er9): ® )
bolE =
SA B SR(SH) - MRAY - B S 0] &b o e HIRE2
307 QIzZtolA 69,962 66,900 3,062
05 2= 69,962 66,900 3,062
O AN BL ESHI 69,962, 000& * 14! 69,962
406 JIEFA=0M 340,000 0 340,000
01 JIEtA=01H 340,000 0 340,000
O ZAH M ES5= 340,000, 000& 340,000
SEXE KA 2 107,488 103,996 3,492
201 et 107,488 103,996 3,492
01 AtSR2teltl 49,182 46,170 3,012
O S32HA X 182,000 251 1CH 45,682
O ZEXNE sd & F=XR= 200,000 122 2,400
O XHERNE 2 A2F 100,000 = 11CH 1,100
02 Z2==2944 58,306 57,826 480
O XSIHAI 2,596
— HESEX(MUIAIL) 584,850« 1CH 584
— HEsSEX(OHH) 342,050 = 1CH 342
— EESEXH(ALE) 289,850« 1CH 290
— ESEESEX(UA) 500,000 = 1CH 500
— SESE(OHMEINUY) 65,0003 *1CH 65
— ==& EX(DetE) 50,000 *1CH 50
— HESEIH(HA) 115,000& = 1CH 115
— ASSEX(AERA) 150, 000& = 1CH 150
— LESEX(AEIA BH) 100, 000& *2CH 200
— =ZESEXH(0tEHH dto1E2IE) 300, 000& = 1CH 300
O BEMERYS 210
— AXEIX, HIZ2U, AEFEAED]) 70,0003 *3CH 210
O 2= 9,200




A & 0l & AFH S & A A

25 2 ¥INA s
d&tst 23 AHIA HZ (2 &&)
SR EB . SR(SH) - MBAY - B 0l &t o ;ﬁioﬁ HIRZ2

— HESEX(MUIAIL) 700,000 *1CH 700
— HEsEX(OH) 500, 000& = 1CH 500
— ZESEX(ALE) 900, 000& = 1CH 900
— AESE(OHEIY) 750,000 * 1CH 750
— HESEIH(HA) 1,700,000 = 1CH 1,700
— AESEX(AERA) 500, 000& = 1CH 500
— StSXH(AEtAA) 850, 000 *2CH 1,700
— SIS (DE) 800,000 = 1CH 800
— ESEESEX(YA) 850,000 = 1CH 850
— LS EX(OtBtH dtolE2IE) 800,000 = 1CH 800
O xEm=4 32,000
— WESEX(MUAIA, D) 1,500,000 +2CH 3,000
— SESEXH(ALIE M) 1,500,000 +2CH 3,000
— AESE(OMES LY 2,000,000 = 1CH 2,000
— HESE(HA) 15,000, 000& *1CH 15,000
— AESER(AERA) 2,500,000 = 1CH 2,500
— LS EX(OtBtH dtolE2IE) 2,000,000 = 1CH 2,000
— SSXHAEAA) 1,500,000 +2CH 3,000
— SIS (DE) 1,500,000 *1CH 1,500
O Xt&k=cldl ¥ AIXtdl 1,300,000 *11CH 14,300
Jetst 83 MElA HS 126,691 167,706 A41,015

25 ZEANAE 23 - 2tel 126,691 167,706 A41,015
2ot 91,791 73,706 18,085
At 2eltl 7,632 5,132 2,500

O %ol ATEN 2 5,132
— NB & PCE 40,0002 *120user (V3) 4,800
— Windows A HH & (2F) 332,000& 332




A & 0l & AFH S & A A

20219 &= =0l &t

SN BRI
My INPHE L HINY 2
ol Al FEE M MUIA KIS (9@ )
SH-FH - C(BH) - NRAY - BES Ol &F 04 Zf'iof“ SmE=pli
O zWZ222 ALY 2 2,500,002 2,500
02 ZZ2H| 84,159 68,574 15,585
O SUS(2RESAIAH) 0182 70,0002 * 1202 840
O WaMH 2 &Hl |2 23,702
HXZTH 0B At 15,800, 00021 *8%/ 124 2 1,264
HIZT AP At 16,400, 00021 x8%/ 124 2 1,312
DBMS 106,745, 00024+ 12%/ 120 2 12,810
PN 20,000, 000! +8%/ 1274 2 1,600
B o 18,000, 0002 +8%/ 124 2 1,440
ZHOIX A 9,000,000% #8% 720
= 30,492, 40021 +8% 2,440
Yy s24 2,115,450 %144 2,116
sgessll L S fXze 2,446
Seaall(Fita) 14,945, 4802 8%+ 1 CH 1,19
UPS 15,616, 0002 +8% 1,250
POIRH| RA24 8,520
yysie KL 170,000+ 144%122 2,040
25t QK2R 180,0008!*144%122 2,160
PCHQIH S BBHAIAE 180,000+ 144%122 2,160
0B E2HOf 180,000 *141%122 2,160
ADE PC RAI2 900, 00021 +141%12% 10,800
2D Y SYBRAAAY 4,800
ZBIAIAE 200,00021+141%12% 2,400
EUBIAIAH 200, 00021 +141%12% 2,400
R B2 AIAE 1,250, 0008114l 12 15,000
HI2MAIAE S/W 100,337,01021%15% 15,051
HMAlE R 3,000,002 14! 3,000




A = 0 & A B A A
2021 & =0l &t
SN B2
My #H2AAY
o9l o2y (25 8)
SH-FH - C(BH) - NRAY - BES 0 Ak O ﬁii SmE=pli
203 Y=Y 1,000 1,000 0
03 AHZTARETY] 1,000 1,000 0
O BRAAY 2 200, 0001 +53] 1,000
405 RHaHE S| 33,900 85,000 A51,100
01 XAUSEFHSH 33,900 85,000 A51,100
O ¥2g PC 7Y 1,500, 00024 *10CH 15,000
O 2UEH 7Y 300, 0002 *13CH 3,900
O 2FH HAZ(UPS) 15,000, 0002 * 14! 15,000
#™2HAY| 562, 148 546,215 15,933
ol 2 | 486,228 467,099 19, 129
ol 2 | 486,228 467,099 19, 129
101 o124yl 244,208 226,699 7,509
01 B4 6,255 5,933 322
O FHAZAH(O1BT) 140,00024* 122 1,680
CR=BIEPIGIRE)) 10,229, 0102 86%+78%+20/30 4,575
02 JIEE 4 122,749 118,301 4,448
OIBY o= 10,229,0102! 122 122,749
03 SIAHAZZX 24 115,204 102,465 2,739
O JI2® 2x4 22 67,367
- o122 2,014,030« 122+2,058, 2502 * 122 48,868
— #g 160,0002 * 122+469, 2002 * 122 7,551
— YRS 2,014,03021%1.2+2,058,25021%1.2 4,887
— ARRIBINAY 2,417
2,014,030%1 /209+8+ 15+2,058, 2502 /200+616
— B0yl 10,0008 12 1,200
— H2NHY] 48,867 , 3602 *5% 2,444
O =xz(zZ2) 25,000, 0002 25,000
O zEa(zZ2) 22,837




|
=
[z
>
I

N & 3 A A

My #H2AAY
el 1= | (25 8)
SA-HH . SH(3H) - NREAY - BE=2 Off A 04 gii HRs2

e EEEEE 221,121,74021 4. 5% 9,951

~ D82E= 221,121,74021%0.85% 1,880

— MTPER 221,121,740 %1.3% 2,875

— 2oAYBE2 221,121,74021+3.335% 7,375

~ BlRUPER 7,374,41021%10.25% 756
203 Y=Yl 128,020 127,600 420
01 JBRYAREY 116,600 116,600 0

O oz 116,600,000 1 116,600
02 FHAI}MARETY] 8,420 8,000 420

O FAIIMYLEZHI(107%) 80,0002 +100Z+60, 0002 +7% 8,420
04 EASYARFY| 3,000 3,000 0

O E21 250,000%! 122 3,000
204 HeLHAY] 114,000 112,800 1,200
01 HMZYRLHAY] 54,600 54,600 0

O JI2E(12) 750,0002! 1 122 9,000

O =22x(323) 600, 00024 *22*122 14,400

O == (43) 350,0002 *4Z 122 16,800

O 1H(52) 10,0002+ 12« 122 14,400
02 HZEBZH| 6,600 6,600 0

0 Jlzm 550,000 12 122 6,600
03 SZYLAY| 52,800 51,600 1,200

O tEEsy| 50, 000214822 * 122 49,200

O oagRgy 29w 50,0008 %22 * 122 3,600
Jl=&Hl 75,920 79,116 A3,196
Jl=&Hl 75,920 79,116 A3,196
201 Yer2 | 61,520 59,916 1,604
01 AtRE2lbl 61,520 59,916 1,604




>
=

Al

OHl At

g Ml A

SN B2
3 #Y A
el 1=l (29 &8
SA-BH.S(S) - HEAY - BE=S Off & o Zf'iof, HD=s2
O Ed+¢ 6,500
— diOIMEZEH 200,000 *2CH 44 1,600
— Zdzeg 250,000 *4CH 44 4,000
— WA 150,000 *2CH *3 4 900
O SAII Xt 350,000 x141x12& 4,200
O 2EMA S HH 15,0003 *90F *43] 5,400
O 2A2gIIE+2H 4,400,0002! 4,400
O JIBIA SSHI(SJTH, AFSTY) 5,000,000 14! 5,000
O g=% &g 26,420
- By 30,0008 <2 x2522! 15,120
- £.94.252 50,0002 2%+ 1132 11,300
O Szl 8,000 * 105102 128 9,600
202 O4Hl 14,400 19,200 24,800
01 =LHOHI 14,400 19,200 24,800
O HRABLOIHI 14,400,0002! 14,400
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SH-FH - C(BH) - NRAY - BES 0 Ak O gii SmE=pli

O gortes #2017 29 5,000, 0002 14! 5,000
202 Ot 1,590 1,272 318
01 =UHoib 1,590 1,272 318

O g20l2 g2l 15,0002 +224 +53] 1,590
203 Y=l 1,400 1,000 400
03 AHZTARETY] 1,400 1,000 400

O N7 YUASE YR 1,400, 00021 1,400
#H2HAY| 19,780 20,260 £480
ol 2 | 1,200 1,200 0
ol 2 | 1,200 1,200 0
203 YLFZH| 1,200 1,200 0
04 RH2YARETY 1,200 1,200 0

O SHASYERD 10,0002 * 122 1,200
o= 18,580 19,060 £480
o= 23| 18,580 19,060 £480
201 Ler2g) 1,380 1,380 0
01 AbR22lt] 11,380 1,380 0

O Szl 8,0002 *42x 102 128 3,840

O YxE (=8Il 350,0002 122 4,200

O BA2EII=48H| 400, 0002 #4 1,600

O ElTY 1,740

— oI ZRIE 200, 0002 2CH 244 800

— zetma 400, 0002 * 1224 800

— A 140,000 1CH 14 140
202 01t 7,200 7,680 480
01 =Kol 7,200 7,680 480
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3 2,235,000 0 2,235,000
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BJFEZ SAIMEMA 2= 11,666 8,360 3,306
OleHXIS® HHTZAl X4 11,666 8,360 3,306
TAIHE 2e| 4,926 5,560 AB34
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01 =2LHodHI 2,226 2,385 A 159
O TAIHE 22| gRF4 159,000 *2H 73] 2,226
203 YRFZ&H| 2,700 3,175 N4AT5
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A3 24 6,740 2,800 3,940
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A = 0 & A B A A
2001EE 2ol
A NN D
B #Y2ARY|
Erel: J|= 2| (Er9): ® )
] _ _ e
SR EB . SR(SH) - MBAY - B 0l &t o e HIRZ2
Zet= A 400,000 = 1CH*4 4414 1,600
YINOEIH 220,000 » 1CH*4 24«10 880
WA 140,000 = 1CH=1H 140
— RPN2EII2+EH| 3,600,000& 3,600
O dx=(=82l) 350,000 x 122 4,200
O =&l 8,000& 81012 7,680
O Hers 1,764
— XX 12,0003 ~6F+ 122 864
— 2K 15,0003 «5F+ 122 900
202 O4dl 12,960 17,280 24,320
01 =LHOHI 12,960 17,280 24,320

O HABU 0L 12,960, 0002 12,960
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A = 0 & A B A A
2021 & =0l &t
A N
HH: AWRTY SAKY N
9l JIPAIE X (25 8)
] _ _ HAc
SH-FH - C(BH) - NRAY - BES 0 Ak O 0il ot o SmE=pli
oHe 1t 10,052,692 1,558,875 8,493,817
= 10,000,000 0 10,000,000
X 52,692 0 52,692
BJFEZ HEXIZ XM H 2= 3,000 3,200 A 200
AN 2% NFHH 25 3,000 3,200 A200
sal® CAY 22 3,000 3,200 A200
201 Yer2 | 1,500 1,500 0
01 At 1,500 1,500 0
O TADHZ 2 o442 M= 2 7Y 1,500
— TANY 2R I S 500, 0002 +33| 1,500
203 Y=Yl 1,500 1,700 A200
03 AHZTAREY] 1,500 1,700 A200
O B2H TANY 42EZ 1,500,000% 1,500
BIFEZ SAIBTAH 7= 3,408 3,608 A200
DIHKIEE HHTAl X4 3,408 3,608 A200
A= 2 3,408 3,608 A200
202 01t 1,908 1,908 0
01 =Uoib 1,908 1,908 0
O SANE 2| HRFZ 159, 000! %2 *63] 1,908
203 YLFZH| 1,500 1,700 A200
03 AMEIYREY] 1,500 1,700 A200
O SANE 2| HRFZ 1,500,000% 1,500
AH RO PAXIS e 10,011,596 1,513,059 8,498,537
= 10,000,000 0 10,000,000
X 11,596 0 1,596
JIgrAlE & 10,000,000 1,500,000 8,500,000
= 10,000,000 0 10,000,000
BIFEZ SEXYTE Ha& 5,000,000 1,000,000 4,000,000
= 5,000,000 0 5,000,000
403 RXISHSKL0IH 5,000,000 1,000,000 4,000,000
= 5,000,000 0 5,000,000
02 TIIZSO Thet X=X FIStAIH] 5,000,000 1,000,000 4,000,000
=2 5,000,000 0 5,000,000




A & 0l & AFH S & A A

20219 &= =0l &t

A N
B YY)
el J1= 3| (29 2)
] _ _ HAc
SH-FH - C(BH) - NRAY - BES 0 Ak O 0ol ot o SmE=pli
O BIFEZ 2= MYTE HEAY 5,000,000
446 2 ZAHI 5,000,000,0002 141 [= 5,000,000
YAXT 28 HHER BE 5,000,000 500,000 4,500,000
= 5,000,000 0 5,000,000
403 THXISHSKH20| 5,000,000 500,000 4,500,000
= 5,000,000 0 5,000,000
02 TIIZSO Thet X=X FIStAIH] 5,000,000 500,000 4,500,000
=2 5,000,000 0 5,000,000
O YNXP 2 HHEE SHBALY 5,000,000
ZAHI S 5,000,000,0002+141 | 2 5,000,000
M7 2 11,59 13,059 A1,463
e =3 11,59 13,059 A1,463
201 Ysr2gy| 1,600 1,600 0
01 Attt 1,600 1,600 0
O WEXP 2 AM2 M 1,600
— WEXP B S 80, 00021 %2074 1,600
202 Oft 6,996 8,109 A1, 113
01 =foit 6,996 8,109 A1, 113
O WEXP 2 22 =& 159, 0002 *4% *53] 3,180
O JIgrAlE 2l g2 =7 159, 00021 32§ 83| 3,816
203 REXY] 3,000 3,350 A350
03 AMEZAREXY| 3,000 3,350 A350
O WEXP AL YRFZ 3,000, 0002 3,000
BZ2YAY| 34,688 39,008 A4,320
SRS 2,100 2,100 0
SRS 2,100 2,100 0
203 REXY] 2,100 2,100 0
04 SEASYARETY| 2,100 2,100 0
O et 175,000 %122 2,100
o= 32,588 36,908 £4,320
o= 32,588 36,908 £4,320




M = 0l & AF S H A A
2021 & =0k
SA 1Dt
M HEY2AAY|
el J|=AYl (Sl &)
S-S (3H) - NRAY - BAS Off &k oH gii Hnz2
201 L2y 19,628 19,628 0
01 At 19,628 19,628 0
O EH 7 6,680
— OIMZRIH 200,000 *4CH*3H 2,400
— =2ADI 400,000 *1CH* 104 4,000
— A 140,0002 = 1CH *2CH 280
O BM2glI=248H| 3,600,000€! 3,600
O Szl 8,0008! 9% 10+ 122 8,640
O dlens 708
— XX 12,0002 x2 2 %122 288
- =4 15,0009+ 12 %128 180
- =4 20,0008« 12+ 122 240
202 OfHl 12,960 17,280
01 =201l 12,960 17,280
O =g 2ol 12,960, 0002 12,960




N = 0ol & AF & 9 Al A
2021 & =0l &t
A N2
HH: #H2AAY
o9l o2y (25 8)
SH-FH - C(BH) - NRAY - BES 0 Ak O ﬁii SmE=pli
o2t 45,870 53,984 £8,114
BJFEZ TAIEEMAH = 5,775 6,452 ANBTT
OleHXIed HHEA =4 5,775 6,452 ANBTT
SAHE 2el 5,775 6,452 ANBTT
202 o1t 3,975 4,452 ~ATT
01 =UW0HI 3,975 4,452 NATT
O SANE 2| HRFZ 159, 0002 +52§+53| 3,975
203 YR 1,800 2,000 A200
03 AMEIYREXY] 1,800 2,000 A200
O SANE 2| HRFZ 1,800, 0002 1,800
AR AR MoK 2 8,515 9,492 ~977
X7 2 8,515 9,492 ~977
SRS 8,515 9,492 ~977
201 Ysr2gy| 2,040 2,040 0
01 Al 2,040 2,040 0
O MHEXNT 22 A2 M 2,040
— WEXP B S 80,0002 %1374 1,040
— HEXP YRFHHY MIS 500, 0002 x23| 1,000
202 01t 3,975 4,452 ~4TT
01 =UW0Hl 3,975 4,452 NATT
O WEXPAE LLEX 2 X S 159,0002 52 +53] 3,975
203 Y=Yl 2,500 3,000 A500
03 AHZTARETY] 2,500 3,000 A500
O HENTAL AL =T 2,500, 0002 2,500
HY2HAY| 30,580 37,040 6,460
ol 2 | 2,100 2,100 0
SEE 2,100 2,100 0
|




A = 0 & A B A A
2021 E =20l
SA W2
B DHAS QIRAMYIA
Chel: RESlE WA XIS (9 @)
SN-EH . SA(BH) - MEAMY - B2 0 F ﬁii HRzZ
203 YR=add 2,100 2,100 0
04 BEMA2EY 2,100 2,100 0
O JHg2m 175,000 x 122 2,100
J=234 28,480 34,940 26,460
J=23t 28,480 34,940 26,460
201 LBH23H 16,960 18,580 A 1,620
01 ARl 16,960 18,580 A1,620
O guegy 5,080
- U7y 1,880
2ot A 400, 00021 *1 CH»444 %1} 1,600
PN 10,0002 *1CH*2JH 280
— 2A2Y 400,000 +8% 3,200
O Anz(= 350, 0002 %122 4,200
O 2| 8,0002+8 102 122 7,680
202 O4dl 11,520 15,360 A3,840
01 =U0dbl 11,520 15,360 A3,840
O =AU O 11,520, 0002 1,520
DAAS OIAMYIA 1,000 1,000 0
AESs HLAY X2 1,000 1,000 0
HMEAMEYE S5, 2 1,000 1,000 0
203 YR =& 1,000 1,000 0
03 AIMFHARFLH 1,000 1,000 0
O HSANEE S5, 2l AIMFA 1,000,000 1,000




= O
N = 0ol & AF & 9 Al A
2021 S 204t
SN XTI D
Hu: SNSRI SBHD
Sl N0l ENRI BS CRRED
_ _ FSJENES
SA-HH . SH(3H) - NREAY - BE=2 Off A 04 0il ot o HRs2
SxIF2|2 915,884 834,085 31,799
465,000 0 465,000
450,884 0 450,884
SNSRI SDBHD 377,976 391,956 ~13,980
130,000 0 130,000
247,976 0 247,976
Haxol SXRX HE 377,976 391,956 ~13,980
130,000 0 130,000
247,976 0 247,976
sxsxl = 15,460 21,796 76,336
201 syl 6,880 4,480 2,400
01 AtRE2lbl 6,880 4,480 2,400
O N3l B 600, 0002 x23| 1,200
O Nesle egad 5,680
— BHag 100, 0002 <28 *23] *80% 4,480
— Bl 150, 0002152 x25| %80% 1,200
202 01t 3,180 3,816 636
01 =2ujoit] 3,180 3,816 636
O SXSX 2 V2+E %L JIZ 22 159,002 x4 53] 3,180
203 YR 2,400 2,500 A100
03 AMEFAREHY| 2,400 2,500 A100
O EXSA I8 g2 2,400,0002 2,400
303 ma2 3,000 3,000 0
01 T2 3,000 3,000 0
O SXRI ZA3 3,000, 0002 3,000
2 SXEYE L MAE A} S 24,516 32, 160 A7,644
5,000 0 5,000
19,516 0 19,516
201 Ysr | 19,000 24,000 5,000
5,000 0 5,000
14,000 0 14,000
01 ARl 19,000 24,000 5,000
5,000 0 5,000
14,000 0 14,000
O 2 EXEZ3 &0t 15,000
5,000
10,000




20219 &= =0l &t

o
=

&F AL

g Ml A

SN XTI D
Hu: SNSRI SBHD
Sl N0l ENRI BS (9 ® )
) _ _ FSJENES
SA-HH . SH(3H) - NREAY - BE=2 Off A 04 0ol ot o HRs2

— SAHRA)EDHI 4,000,00024%33| 12,000

2 5,000

o 7,000

— HIZ YR 1,000,00021%33] 3,000

O Zstatzslols ol 1,000,00021 43| 4,000
202 01t 3,816 6,360 ~2,544
01 =Uioitl 3,816 6,360 ~2,544

O =W SXEY5 L MAE S Bt 159,008 =42 +63] 3,816
203 YR 1,700 1,800 A100
03 AR=TYR=X| 1,700 1,800 A100

O 2 SXEYS L FAE &I S RS 1,700,000 1,700
el EXtEYs U MAIS &I S 188,000 338,000 ~150,000
2 100,000 0 100,000
N 83,000 0 88,000
201 Lsr2 Y| 127,000 160,000 33,000
2 100,000 0 100,000
N 27,000 0 27,000
01 ARl 112,000 130,000 18,000
= 100,000 0 100,000
7N 12,000 0 12,000

O KFEZ BE&8R 223 100,000,00024 100,000

= 100,000

O el SXEYs L ®AE S &I 12,000

- dgUxe 2,000,00021%43] 8,000

- s92 1,000,00021 43| 4,000
03 A2 15,000 30,000 £15,000

O BJFEZ il SX& 3| Wz 15,000, 000! %14} 15,000
202 OfHl 60,000 176,000 ~116,000
03 =el=oiy| 60,000 176,000 ~116,000

O HASXEE L HAE S &It 60,000

— R/01F 15,000, 0002 *13| 15,000

— R/0IF 20,000,0002 * 1l 20,000

— OLAIO} 10,000, 000! *13} 10,000
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A SXHSIIHY
B MM EDYS
crol: Chrst DHRIES (Er9): ® )
] _ _ e
SA B SR(SH) - MRAY - B S 0l & o4 e HRE2
— OFAIOt 15,000, 000& * 13l 15,000
301 LEEMZ 1,000 2,000 A 1,000
06 2I2teI=2|04H] 1,000 2,000 A 1,000
O o2l EXNLHs 2 HAE s &It 1,000, 000& »1H 1,000
SUSX SH39 AAE 2=F 150,000 0 150,000
= 25,000 0 25,000
Xl 125,000 0 125,000
201 LBH23AH 30,000 0 30,000
= 25,000 0 25,000
Xl 5,000 0 5,000
01 AtR2teldl 30,000 0 30,000
= 25,000 0 25,000
Xl 5,000 0 5,000
O &9 AIAE AZEY N, 2toldA 30,000,000 14 30,000
= 25,000
Xl 5,000
401 AlZHIZ 2O 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O gusloa 222y 2 oH2I0 Ha Pa 50,000
50,000,000& 14!
405 KHeHESHI 70,000 0 70,000
01 ML =SZFHSHI 70,000 0 70,000
O QMBIGNAH(SY, 28 S BHl) 75 70,000
70,000,000& 14!
A 22235 438,775 391,875 46,900
= 335,000 0 335,000
Xl 103,775 0 103,775
Ctest iM=E2 359,175 362,275 23,100
= 325,000 0 325,000
Xl 34,175 0 34,175
M2 s 20 201,700 201,800 A 100
= 190,000 0 190,000
Xl 11,700 0 11,700
201 B2 AL 200,000 200,000 0
= 190,000 0 190,000
Xl 10,000 0 10,000
01 AtS2teltl 200,000 200,000 0
= 190,000 0 190,000
Xl 10,000 0 10,000
O CIMDOHMZD 50,000
= 50,000
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20219 204
2N SXEID
B MM EDYS
crol: Chrst DHRIES (Er9): ® )
] _ _ e
SA B SR(SH) - MRAY - B S 0l & o4 e HRE2
— NEZD 2,500, 000& 20 XI 50,000
= 50,000
O YS0HMED 20,000
= 20,000
— vZ1 10,000,000 *2JH OH Xl 20,000
= 20,000
O AlE0HMZD 30,000
= 30,000
— 2, H8ANE S 15,000, 0003 «2J4 2~ 30,000
= 30,000
O =OICIHOHMZ 0 100,000
= 90,000
Xl 10,000
- 852 = 50,000, 000 *27H OH X 100,000
= 90,000
Xl 10,000
203 HR=&HI 1,700 1,800 A 100
03 AIMFAARFLH| 1,700 1,800 A 100
O B2k2e s gRF4 1,700,000& 1,700
EE2= WA 145,000 145,000 0
= 135,000 0 135,000
Xl 10,000 0 10,000
201 et 145,000 145,000 0
= 135,000 0 135,000
Xl 10,000 0 10,000
01 AtSR2teltl 145,000 145,000 0
= 135,000 0 135,000
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203 YLFZH| 1,500 1,800 A300
03 AMEIYREY] 1,500 1,800 A300
O ASHF 22 Y2 1,500,002 1,500
403 XEISHS K201 17,600 0 17,600
02 ZIIBSO Het RH=X ISyl 17,600 0 17,600
O ASHIAAL(NSH) HAE FASAS  17,600,0002 17,600
Yo ZSFLULA =4 2,772 7,572 £4,800
202 01t 1,272 1,272 0
01 =LHOI 1,272 1,272 0
O Fezys 23 g8l 15,0002 224 #43] 1,272
203 Y= 1,500 1,500 0
03 AIEZYLEXY| 1,500 1,500 0
O Femys ppt YR 1,500, 0002 1,500
NEHEs HBSA URAAHIARIE 65,002 77,102 A12,100
201 Ysr2 | 62,171 74,171 A12,000
01 At 1,600 2,200 2600
O ZBSABA ASHAAN SZZH DIY 1,600
800, 0002 +221




A & 0l & AFH S & A A

20219 &= =0l &t

SN ASD
M HNSHAY|
ciol: oIty (Ere&a)
bolE =
SA-HH . SH(3H) - NREAY - BE=2 Off A 04 0il ot o HRs2
02 Zz2Y| 60,571 71,971 A11,400
O YsEs 23 30,0008 *403] &1+ 122 14,400
O 0SS 2 FBSAHY 23 70,0002 %93 &1 128 7,560
O ®MEB3MH 23 15,180
— A4 0D BlME 802,500% 18| &1 122 9,630
— EHOIX QEY FHB 4624902 18| 1122 5,550
O HU AHUHS RN 2 950,0002!+12% 11,400
O SHAE sX2L 2,500, 0002 * 14! 2,500
O HEBSABA ABHAA SHFY 2N 22 4,345
27,153,0008 %241+0.08
O gyl Xz 2,902
— oA MW 7,875,00021+0.08 630
— Bloa waRY| 13,200, 0002/ %0.08 056
— CIEW FAEA FH 4,723,0002+0.08 378
— Bl gaIH 2 Ve 10,473,000 %0.08 838
O TVt A2 284
— CATV 12,1002 *130H* 122 888
— SlaTV 16,5002 x2C « 122 396
202 OfHl 1,431 1,431 0
01 =2ujoitl 1,431 1,431 0
O H2EM B YR80 159, 00021 +32§%33] 1,431
203 YPEFY| 1,400 1,500 A100
03 AlMEFAREXY| 1,400 1,500 A100
O HEEH 2 ARZZ 1,400,000 1,400
T 78,782 47,373 31,409
ol 2yl 39,562 3,000 36,562
EET 39,562 3,000 36,562
101 QI2it] 36,562 0 36,562




A & 0l & AFH S & A A

20219 &= =0l &t

S ARD
X
(==}

My #H2AAY
el 1= | (25 8)
HEc
SA-HH . SH(3H) - NREAY - BE=2 Off A 04 0il ot o HRs2

03 SIANAD2RE2S 36,562 0 36,562

O ABSHOIY PRBZ 36,562

- o122 2,323,6802+124+12% 27,885

— YREIH| 2,323,6802*120% 2,789

— JiEag 120,0008* 122 1,440

— HXRIEINAEY  (2,323,68021/209A12H)xBAI 24172 1,513

- BYaRLy 100,000 100

— BUOI(ABASE o) 10,0002 1281+ 122 1,440

— AN 4| 27,884, 16021 %5% 1,395
203 YR 3,000 3,000 0
04 EASYARFY| 3,000 3,000 0

O A= 250,000%! 122 3,000
o= 2| 39,220 44,373 A5,153
282 | 39,220 44,373 A5,153
201 Ysr2gy| 23,380 23,253 127
01 ARt 23,380 23,253 127

O EU7Y 7,200

— oI ZRIE 200, 0002 *3CH <44 2,400

— thIs=8)l 400, 00021 1CH =444 x30H 4,800

O QIBIILAIAL Q14 25,0008 x5 *55 625

O Szl 8,0002! 112 %102 128 10,560

O BA2YII=48H 400,000 112 4,400

O vers2 595,0002 595
202 01t 15,840 21,120 A5,280
01 =UHoib 15,840 21,120 A5,280

O =g 2ot 15,840,0002 15,840




N &

20219 &= =0l &t

O &F AF &

g Ml A

SR
Jleistll B2 8 x4
B2l N U 2EHES (el 28)
SA B SR(SH) - MRAY - B S 0l & o4 it HIRE2
04 & o8
132,959 193,585 260,626
£2 348 =4 18,525 19,805 21,280
2o 2248 Ztel 7,441 7,153 288
3o =80l 2e| N 7,441 7,153 288
Lot 4,410 3,245 1,165
AS2teld] 4,410 3,245 1,165
SR SAAYT HE U NAT L2 1,960
HEE M 20,0002 *3JH4 60
Jgss M= 200, 0002 34 600
SEHAE ME 10,000& 1005 1,000
SAGE SFAAN =F 100, 000& *3H * 13| 300
O BIAKNAL oI 50,0003 23 +8& 800
O =Z2IMNE MNEUWHEI 7L 125,000 *62f A 750
O HiEAld XN&EESEE 0tAT Y 1, 5002 *2000H 300
O HEAL NEH28 Tois) 7o 100, 000 *6% 600
04 8l 1,431 1,908 NATT
=L 04 1,431 1,908 NATT
gdad s s &4 159, 000& *3H *33] 1,431
=4l 1,600 2,000 2400
INESErN R B S ] 1,600 2,000 A400
gZael ARFA 1,600, 000& 1,600
= Nd & =2 11,084 12,652 A 1,568
=ld & =ZEs 11,084 12,652 A 1,568
04 8l 1,908 3,180 AN1,272
=L I 1,908 3,180 AN1,272
gZa2tel AFREL 159, 000& *6H »22] 1,908
R =l 1,600 2,000 A400




A & 0l & AFH S & A A

20219 204
SA EXSAD
B DHAS QIRMYIA
Chel: RESlE WA XIS (9 @)
SN-EH . SA(BH) - MEAMY - B2 0 F ﬁii HRzZ
03 AIMFHARFLHI 1,600 2,000 A400
O 82JIsNY L =2BS Y2=7 1,600,0002! 1,600
301 LEEMZ= 7,576 7,472 104
12 JIet243 7,576 7,472 104
O Su1 Bals afe=s 2,000,000& »10%*3AH 600
O 8229 SST D120 AHIEA 69,760 *42x52 53] 6,976
DAAS OIAMYIA 12,480 17,474 ~4,994
AEes HLAY X2 12,480 17,474 ~4,994
sk 1,618 3,572 21,954
202 O4dl 318 1,272 N954
01 =U0dbl 318 1,272 N954
O sXze yesol 159, 00021 * 12 x23| 318
203 LR 1,300 2,300 A1,000
03 AlR=ZYLEXY| 1,300 2,300 A1,000
O sX2d 4280 1,300,0002! 1,300
NEEEEE 6,977 8,890 £1,913
201 Ler2g) 4,046 4,046 0
01 AtSR2teltl 4,046 4,046 0
O QIRAAA oIy 50, 0002 %22 *55 500
O Bs4cialn ol elES ME 2002 %10,000% 2,000
O Sde=E &3 260, 000 =44 1,040
O BHES 2X(A) 37,4002+ 107} 374
O E2HE &XI(A0) 44,0003 *3 4 132
202  O4dl 1,431 2,544 A1,113
01 =UW0Hl 1,431 2,544 A1,113
O XN&H&H s s &4 159, 0003 *3H 33| 1,431
203 YR =& 1,500 2,300 A 800




A & 0l & AFH S & A A

20219 &= =0l &t

SN EXSAD
B #Y2ARY|
erol: o= (el 28)
SN EBSA(FH) - NBAMY - B S 0] &b o ﬁii HIRE2
03 AIMFHARFLHI 1,500 2,300 A800
O NE=g2e| AIMFA 1,500, 000& 1,500
EXHeH 22l 3,885 5,012 AT,127
202 044l 2,385 2,862 NATT
01 =UW0H 2,385 2,862 NATT
O EXHcHaIt 2H J2 e 159, 000& *56H 33| 2,385
203 HR=&HI 1,500 2,150 A650
03 AIMFAARFLH| 1,500 2,150 2650
O EXIHel el AIRME=ZE 1,500,000& 1,500
HZ2H A 101,954 156,306 AbB4,352
ol 2 A 37,085 106,693 A69,608
el 2| 37,085 106,693 A69,608
101 elAb| 34,085 103,693 A69,608
01 2= 1,200 1,200 0
O 3P =¥ 50,0003 *2F«12& 1,200
03 SRIHAZZAE = 32,885 102,493 269,608
O XNHF HREX 32,885
S === 2,235,350 x1H« 122 26,825
— HESIHI 2,235,350 *120% 2,683
— E==E 40,0003 12 480
— ARS8 I==E (2,285,350 & /209A1 2+) *B Al 2H 172 1,455
— RYUIZRE 100, 000& 100
— A& 26,824,200 *5% 1,342
203 YR =& 3,000 3,000 0
04 BA2HHERF4AUI 3,000 3,000 0
O BA2IHRFAI 250,000& x12& 3,000
Jl=&Hl 64,869 49,613 15,256
|




A & 0l & AFH S & A A

20219 &= =0l &t

SN EXSAD
B #Y2ARY|
erol: o= (Er9): ® )
SA B SR(SH) - MRAY - B S 0 &t o4 ﬁii HRE2
Jl=&H] 64,869 49,613 15,256
201 LBH2AH 44,709 32,333 12,376
At 2eltl 28,340 19,124 9,216
O Rlgotiss(A) M 300&+2,000& 600
O RlgotlisS (M) M 500&+2,000& 1,000
O MNES EX UM 250,000& 28t A 500
O s d=2=J] gz 35,000&«12& 420
OlE+== 15,0002 1200 & 180
O S8ol dxt 350,000& *1CH+1200 2 4,200
O Aoz EH7Y 200, 000 *4CH =304 2,400
O BM2EI|I2=+8H| 400,000 *14H 5,600
O =&l 8,000 x14H+10L 1201 2 13,440
SZ223Hl 16,369 13,209 3,160
B BE B¢ SHR3 14,800
otH 300& *4,000S 1,200
s|eH 2,260 *5,000& 11,300
=H<H 23,000&+100S 2,300
PR 2= 900
NB=SdMAAL S 180, 000& *5H 900
NEAMLD 82857 A2 7,600,000 #8%+1. 1 669
4 Hl 20,160 17,280 2,880
=LHO{H 20,160 17,280 2,880
3 ZHLH oI 20,160, 000& 20,160




